
IELTS Writing Task 2 

In the past, most people worked for small businesses, while more people now work for 

large businesses. 

What are the advantages and disadvantages of working for large businesses? 
Answer: 

With the advancement in time, there has been a shift in the business sphere with the development 

of large businesses. This consequence is a rise in opportunity but also throws light on the societal 

dilemmas.  

Advocates of large businesses will pinpoint the advancement of employment and career 

development as a result of multiple designations found in a large organization. Whereas, the 

small organizations don’t have numerous job openings which make them draw less percentage of 

revenue which eventually restricts promotions. The capital invested in a large company is 

immense, which enables them to hire different managers, executives, and high-compensated 

employees. But small organizations will lag in hiring, and big organizations have an array of 

departments like marketing, HR, production, finance, advertisement, and so on.  

Nevertheless, the adverse circumstance of large organizations lies in society and not the 

employees. First of all, despite a large number of employees getting jobs in these companies, the 

departure of the local small business owners and entrepreneurs result in capital being distributed 

among the shareholders who are not only excessively rich but also resides abroad. The whole 

21st century is defined by this. Second of all, the voices of the local communities are often 

neglected which throws problems in regulating large companies. A good example of this would 

be the cost incurred in the environment for drilling for oil and extracting natural gas which 

causes discomfort to the locals but the company’s authorities are unaffected.  

In conclusion, it can be said that the job opportunities of the large companies don’t 

counterbalance the threats it poses to the environment. Therefore, the power of large companies 

should be checked.  
 


